Homework 2.3

This week we learned about water hammer and cavitation. Water hammer is when
water pressure builds against a closed valve and releases when the pressure backs up through
the pipe and returns to the tank. It can be prevented by powering down pumps or closing valve
slowly, or increasing diameter of the pipe. Cavitation is caused by low pressure in the pipe

Eo

system, and can be caused by air in the system. The equation C = l

is used to solve for
0xD

1+ Eg

the coefficient of the force of the water hammer.
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